
Кто хочет стать 
отличником

1. Вычислите : -7,8 · 0,5

      а) 3,9          б) -39           в) 78            г) -3,9   

2. Решите уравнение : 10х = - 23,5

      а) -235        б) 2,35         в) -2,35       г) 235

3. Упростите : -24х + 13 - 14х
      а) 38х+13   б) -38х+13   в) 10х-13   г)-10

х+13

4. Раскройте скобки : -2(1,6 - а)

      а)-3,2+2а    б)-3,2-2а      в)3,2+2а    г)3,2-2а
5. Вычислите : -10(-1,3 - 2,7) 

      а) – 40          б) 30             в) 20          г)  40



Правильные ответы :

  г , в , б , а , г


